TGT Hindi

Q 1). Recently, President Droupadi Murmu has renamed the Durbar Hall of Rashtrapati
Bhawan. What is the new name of the Durbar Hall?

(A) Kirti Mandap

(B) Prasad Mandap

(C) Ganatantra Mandap

(D) Gandhi Mandap

Correct Answer: (C)

Q 2). Recently, 4" Capacity Building Program for the Civil Servants of the Socialist Republic
of which country has commenced at NCGG, Mussoorie?

(A) Sri Lanka

(B) Mauritius

(C) Madagascar

(D) Seychelles

Correct Answer: (A)

Q 3). Recently, which of the following typhoons has pummeled Japan?

(A) Biparjoy

(B) Yagi

(C) Shanshan

(D) Mocha

Correct Answer: (C)

Q 4). Students identify the sub concepts from the generalization in which of the following
phases of concept mapping?

(A) Propositional Phase

(B) Application Phase

(C) Closure Phase

(D) Presentation of Abstraction

Correct Answer: (D)

Q 5). In which stage, children are able to think about things in terms of consistent physical
features?

(A) Sensory Motor

(B) Concrete Operational

(C) Pre-Operational

(D) Formal Operational

Correct Answer: (C)
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Q 6). Which of the following is not the main feature of RTE Act?

(A) Free Elementary Education for all children in age group 6-14 years in a neighbourhood
school.

(B) Completion of Elementary Education even after fourteen years of age.

(C) Private Tuitions by teachers is not prohibited.

(D) No child is denied admission due to lack of age certificate.

Correct Answer: (C)

Q 7). GAYR TS R B! I ShIeH [RIPR ol T TR e
(A) BT6 B Hfedr

(B) STl &1 &,

(C) Hfeal IR < &

(D) UNTE Bl BT AT

Correct Answer : (C)

Q 8). Fgff@d & S1F-91 H1o0-TUg I SIRh gRT I 872

(A) TH G G QT §

(B) ST &1 g,

(C)Hla & d1ad

(D) T feT 9t O

Correct Answer : (D)

Q 9). AT BT BT HIF-T AU TS 82

(A) FATT TP TS B¢ 8, oI Udd IRUTH 18 T 22 AHETE gt B
(B) TdUT TP HIAS B¢ &, forIe Udd IRUTH 23 T 26 AHTE gt B
(C) T T a1fdfer B g 3R e TR H 22 § 26 Iuf 8Id B

(D) T3 U a1ofeh B¢ & 3R TP TR H 26 F 31 901 gid &
Correct Answer : (C)

Q 10). UKId I8 & 3MYR R FA13T foh DIH-TT fddhed alg R TR 8! 82
STl TR e ST §fg, el Hi &1 Jig |

M 1S IR B a3 7 Bisd 36|

(A) Y B TSI & HI & |

(B) TET algT ©c I TN fhar Tar |

(C) 5 o1 73 Q =1 WA g

(D) ASl BT ol & J=a1 D B |

Correct Answer : (C)
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Q 11). AFART A &1 HUT v Bisi(HIHH faved g2
(A) 6

B)7

)8

(D) 9

Correct Answer : (B)

Q 12). 91 ¥H T80 3 T Yd Igd AIH A o1 Jd -1 T UT?
(A) BRRIHR Al

(B) HaR-TY Uiy

(C) TieH! Hig= Jurer

(D) U Qi forard

Correct Answer : (B)

Q 13). Fufafad & HH-1 s Y& 82

1. 3MTRratg

2. SWIed

3. Sue

4. 7%

(A) 3,4

B)1,2

O3

(D) 4

Correct Answer : (C)

Q 14). fAgfafaa & fog fawea & IuumT iR aaisfda aifert &1 i g 87
(A) Tfge g - TR, Yool el

(B) UgTS! - Hf&aTett, Tgarelt, FHRSA!
(C) ST - TaTeht, goid, ARATS!
(D) gdf feet - 3fadt, TeiTet, Afdef

Correct Answer : (D)
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Q 15). "3Fq 3R ‘e & 3 vy faswew A B2
(A) 3 - gt

(B) UaH - 3{fU

(C) UIMR - P

(D) & - arg

Correct Answer : (D)

Q 16). TR O ot 3fR fordt o aret faf g1
(A) BRET

(B) It

(C) T

(D) TogE

Correct Answer : (A)

Q 17). Fafafed & fow e & o Suwrt &1 wn g2

(A) T

(B) WATIdl

(C) ufaegat

(D) Udiih

Correct Answer : (A)

Q 18). HETHT St 7 YRd B! W=t feam & srgd arre™ far| gt “were $19 9
THR ST T 87

(A) STTicdTed

(B) Hfiardd

(C) HTgdTEad

(D) GHg drde

Correct Answer : (B)

Q 19). 2 HiATl/AEHT & A R RHREHM) fu MU &, 8 7 It W 3
Ffequ ooy &1 BifeT|

(A) AT - fet arepreeht

(B) TGl aHi - JES

() AR MU - TIA G

(D) THYRT g feTar - Terywon

Correct Answer : (C)
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fafafad srfde &1 Ugax g Y Udl o IR iU 7Y faswedl @ gfHui(Q-20)

<o -g8 ¥ URa a1t St 31 AfchT 39 a5 Hen et ot FARMRY Wia 9§ e oA |
B 8| S UPR FI (Hadh 981 g8 Bidl ¢ | SH1-g¥ I AIay| ge STerdT § 3R a1 w1 9a
e PR $S Vil SIHT Bl g | 1 FHad a1 gg-1g 8ia1 g1 3T e ¥ tifea
IE ORI GIR B W&HAAT & diq PI G@HR AT I[d 4 o HidhdT g1 3%1-g9 ¥ URkd
a1 B3 a1t Bl BIE 48 1 BT TR 1 ¢ | I8 e EIRT WY SUsd gl 81 3
o T iU SR 98 a9 & HRUT I TaT Urdll I 3R 1 &8 A ~RaR 3/ &
A o § SUHT &8 o T ST ST g1 oY U Hid A U 3wl il fordl, $1-
T Ha® 1 HT BN 3(F 3R Th 3R 3] HiadT [Tg &I, dl STHT B g 8l Se|
a1 &1 3% Bt ST 3R HHRT I i1 51 TS U §14aT ¥ Gadl §| I8 GuRl B
e PR THT 3IHT BT & [ I d FHY § SIR I8 34 31 ¢ | ST 38H B 394
SRR
Q 20). TG HGH DIF-91 BT 57
(A) o7 fplt 3rest i forat ardl &fa | Swif w21
(B) St afekd B SR HHGIR B
(C) 3-8 IR e Sl GERI &1 I B TTHR T gl Sl
(D) S TR} I Pl B IRE HibaT 3|

Correct Answer : (C)
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